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254 M e A | it | e | eamm| 0 | 1ofE %
LEBER H1.8 RC| 3 2,365 - |gmERsEs
TR H1.8 RC | 2 1,335 | - | - |piWEAEES
P — g T AVBERR H1.8 RC| 2 | 1302 - | - |WEE&*Es
BYBRT (ZEa%E-SHEER) H1.8 S 2 51| - | - |oiwEfeEs
BYBRT (EEG-HEESER) [H1.8 S 2 6| - | - |FWEREEES
ERES)S H2.3 RC | 2 1,037 | - | - |gFWEsEEs
- EERER $53.12 | RC | 2 1,193 |H15| 1.00 |#%FE
LTEHERCLAD H3.3 RC | 2 963 | - | - |FWEsEES
WILE /MR | B - BN E $63.2 RC| 3 3146 | - | - |pimEEEEA
BYRT (B2 -TaER-TEHERGELADRE) |H3.3 RC 2 35 - - |FEEEES
T ENEE S H5.3 RC | 1 954 | - | - |HWEREES
LTE-FISER $5311 | RC | 3 1,903 |H21| 0.76 |#%FE
Kty [THEHEYRT S623 | RC| 2 198 | - | - |WlEZE#ES
Al EER $62.3 RC| 2 727 | - | - |FEELEES
EREH G H16.3 RC | 1 1030 | - | - |gWEEEEs
LTEBEHR $52.3 RC| 3 2,182 |H14| 0.79 |H16TERIRFH»
LR ER (FEAEE) H2.2 RC| 3 280 | - | - |gWELEES
BFNER |HFIHRER $5812 | RC | 2 1,620 | - | - |pWEREES
BYBRT S58.12 | RC | 2 60| - | - |HWEREES
BREES H10.3 RC | 1 1095 | - | - |pWEREES
EREHG H20.2 RC | 1 1070 | - | - |FWEEEES
T—ILE H20.2 RC | 1 338 | - | - |FWELEES
BRI
RE H22.7 RC| 3 6,745 | - | - |gmEfEEs
RE (EE) R2.3 S 2 822 | - | - |¥mEsxESs
LEBER S4312 | RC | 3 1,996 |H19| 0.73 |H2st E#mFEH
TEHEFGEE) $5312 | RC | 3 293 |H19| 0.73 |H2sm B FEH
HFRNMER | ERHE-EEE S4512 | RC | 2 1,343 |H19| 0.77 |H23ft BitazH»
FEO H5.12 RC | 2 281 - | - |FWELEES
EREH G H12.3 RC | 1 1053 | - | - |gmEEEEs
SE N [Re H187 |RC| 3 | 7422| - | - WWEZEES
EREH G H8.3 RC | 1 999 | - | - |HWEREES
LTEBEHR S51.1 RC| 3 2,740 | H9 | 0.86 |H11TtEMHILFEH
T -HAEER S51.5 RC| 3 2,337 |H12| 1.19 |Hi4TtERIREH»
TmDNNER EYERT S52.2 S 2 51 |H17| 1.98 |#%FE
FEEIFE RO H6.2 S 2 225 | - | - |HWERLHES
ERES)S $52.2 RC | 1 802 |H17| 1.54 |#%F=E
LEBER S57.3 RC| 3 2493 | - | - |gEEfEEs
REEF S57.3 RC | 1 206 | - | - |FWEfEES
FENER |EE-BIHER S57.3 RC| 3 2385 | - | - |gEEEEES
FEO S57.3 RC| 3 553 | - | - |FWELEES
EREH G S$57.10 | RC | 1 851 | - | - |oWEREES
EH-EEHER $58.3 RC| 3 4501 | - | - |#FWEsEEs
FENER (BEREREE) H3.3 RC| 3 658 | - | - |gWEfEES
ERES)S S58.11 | RC | 1 928 | - | - |FWELEES
T -EREER $59.3 RC| 3 3185 | - | - |gmEfEEs
ey | BBAERMRER) S633 |RC| 3 | 1075| - | - |#iE&EES
LB ER (2HIEE) H1.8 RC| 3 716 | - | - |FEEEEES
ERES)S S59.11 | RC | 1 850 | - | - |FWELEES




S Lk s A | i | Bk | wami| T ofE %
L@ - R ER () S47.3 RC | 4 2,014 |H19| 0.70 |HeoT B FH
@ -5 R B ER (R) S47.3 RC| 4 1,510 |H19| 0.72 |H2omt B FEH
RIS ER S$55.12 | RC | 3 1,978 |[H19| 0.70 |#%FE
WML A5 () H1.3 RC| 3 445 | - | - |pWEREES
BYBRT $55.12 | RC | 2 114 |H19| 0.79 |[H20TH B FH»
BREES H15.3 s | 2 1667 | - | - |#EgeEs
LR H16.3 RC | 1 579 | - | - |gWEREES
R H13.6 RC| 3 7242 - | - |gWEELES
BYBRT H13.6 S 2 45| - | - |FmEHEEs
B |EE H13.6 RC | 1 259 | - | - |FWEsEES
EREHG H13.3 RC| 2 1666 | - | - |FWEEEES
RiE5 H14.3 S 1 436 | - | - |FEgeEs
LEBER $53.3 RC| 3 2,784 |H14| 0.77 [Hi6t TR EH
L@ E R () H2.2 RC| 3 252 | - | - |#WEsEES
RoFER  |BEE-ENSER $53.5 RC| 3 3,386 |H15| 0.72 |[#%TE
EREH)S S53.8 RC | 2 1,644 |H21| 0.91 |H23ft Bt HEH»
LR H6.3 S 1 435 | - | - |gWEHEEs
- - ERBER $58.3 RC| 4 5538 | - | - |#wEsEEs
i e LR ER (BE) H4.3 RC| 4 485 | - | - |pWEfEES
EREH)S S58.12 | RC | 2 1582 | - | - |gFWEsEEs
LR H5.3 S 1 399 | - | - |gWEREES
TH-FAEER $60.3 RC| 2 2004 | - | - |gEEsEEs
LEBER $60.3 RC | 4 1614 - | - |gFWEgsEs
BHIHER 55585 ER H1.9 RC | 4 1,746 | - | - |pWEREES
EREHG S60.11 | RC | 2 1620 | - | - |FWEEEES
RiE5 H7.3 S 1 434 | - | - |FEEREEs
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(1) IsfE<0.3 HEOEBRUEHEIITL THIRL. RIFEHET SREKENEL,
(2) 0.3=IsfE<0.6 |MEOBRHRTEHEICHLTEIEL. RITHRTIREENHD.
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